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DAY 2 - Add & Subtract Integers — small numbers G} -4
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| - 1. To use the number line you should remember that
2 3 4 5 6 7 89 10

Yos\YVeS  areonthe right side
' Y\Q?\JMHVU are on the left side
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2. The sign is always O&A\\YAC\\QA to the 3.

number. Move terms around to show this:

-5+7 q~<§ = )

When there are two signs acting on _ S Ovnd,
number simplify the signs first:
S54(-2) = S 2=
3-(-6) =—XZtb= 7

~10-6+20 20~-\0-06 =\

® 9+7= 2

® 15 1]
=3

®.s+.5: -9 -9
==\

@.10..10: ~\9%\0
= (0

ARSI

© = <349
(3}) 8+2= ,(0
QQ A47= (p

@ 5+1= »\{
@ =

S7-(+3) = ~A~3=~10

@ 0+2=

@3 2+8= ~ ) ~Q
= ~10

@ 9+5= — \4

o) -2+5= ’5

@-5+-1: \%'\

@ o+ 648
=2

Now with bigger numbers
@ 28+27= ) ® 2.29= q. © 17+8= | &) 1242= — JO

@.16+12: - L’
@-15+0= - \\,’S
@ 14+-10= ~Q\,1

(QQ 2= =)

éj 13+10= ~ 2K

(‘{)-24_\;29: %
() -28+.9= —3}

®~12+10: - Z
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Qg 12413= =209

®-14415= '
@»16+-9: -28

@ 24+22= ~ \1(0

s
G - |
@ e 143
20
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Find each sum.

DE12)+7 = =5
3 6)+12=
5)3+4 = 3}

7 ) +46) == U3}
9) (-34)+50 = \(0

Find each difference.

22 =Y
13) 8-7 = |
15 11-4= %

17 18-41 = — QL
19) (DA =)

Evaluate each expression.

2l (-10)-47 = -G}
23) 13+(-29) :,\(p
25) (-32)-44 = — FHo
MesLs+s = Al

29) 2+9)—8 -
\
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2) 10+ =— [+
4) 8+7 = \g

6) (45)+9 = — 30
8) (=30)+10 = “’20

10) 38+ (=5) — '5'5

12) D-10 = — ||

14) (-8)={6) = ~ 0
16) 48 +4-31) = A
18) (-38)-30 = — (6D

20) (—1)+40) = 30\

2) (299-29 = —G5F
24) 38+22 = (O
%) C12)+(-11) = — 2D

%) 16+ C1y+s = Y
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